

**Hospitalization risk factors for
children's lower respiratory tract
infection: A population-based, cross-
sectional study in Mongolia.**

**(モンゴルにおける小児の下気道感染症に
よる入院リスク要因：横断研究)**

DAGVADORJ AMARJARGAL

SCIENTIFIC REPORTS

OPEN

Hospitalization risk factors for children's lower respiratory tract infection: A population-based, cross-sectional study in Mongolia

Received: 10 November 2015

Accepted: 31 March 2016

Published: 19 April 2016

Amarjargal Dagvadorj^{1,2}, Erika Ota², Sadequa Shahrook², Purevdorj Baljinnyam Olkhanud³, Kenji Takehara², Naoko Hikita⁴, Bayasgalantai Bavuusuren⁵, Rintaro Mori² & Takeo Nakayama¹

This study aimed to assess the potential risk factors for lower respiratory tract infection (LRTI)-related hospital admissions in Mongolian children. A population-based cross-sectional study was conducted in rural Mongolia in 2013, and 1,013 mother-child pairs were included. Of the participating children, 38.9% were admitted to hospital with LRTIs. Home smoking, low birthweight, being a male child, exclusive breastfeeding and healthcare-seeking behaviour showed substantial association with LRTI-related hospital admissions. Number of cigarettes smoked by family members showed a dose-response relationship and increased hospital admissions. Strategies to prevent second-hand-smoke exposure from adult smokers, especially inside the home, are crucial to preventing LRTI-related hospital admissions for children in Mongolia. Improving rates of exclusive breastfeeding and increasing birthweight have great potential to decrease the likelihood of children acquiring a LRTI. Educational initiatives are also necessary for women who are less likely to seek out care for their children's symptoms.

Pneumonia in children younger than 5 years of age is responsible for 18.4% of mortality worldwide, accounting for an estimated 1.4 million deaths in 2010¹. Furthermore, more than 20% of total neonatal deaths in developing countries are caused by serious infections every year², of which 50% are caused by neonatal pneumonia³.

In Mongolia, respiratory tract infections (RTIs) account for one-third of communicable diseases and are the second leading cause of death in children under 5 years of age⁴. RTI-associated hospital visits in <5-year-old Mongolian children comprised 87% of all hospital visits in 2010⁵. In developed countries, up to 18% of paediatric hospital admissions were attributable to lower respiratory tract infection (LRTIs)⁶. While hospitalization for LRTI is well documented in developed countries, such data is yet to be reported from many developing countries such as Mongolia. Additionally, children in developing countries have an average five episodes of LRTI in a single year, which makes up 50% of all paediatric visits and 30% of all admissions⁷. Repeated episodes of RTI may also have a negative impact on a child's social and cognitive development⁸.

Known risk factors for respiratory infection are reported to be mainly second-hand smoke, low socioeconomic status, sex, preterm birth, mineral deficiency and day-care attendance^{9,10}. In 2010, LRTI in children with second-hand smoke exposure caused an estimated >165,000 deaths globally¹¹. In Mongolia, national estimates indicate that tobacco smoking is highest among male adults of 15 years or older (43%) compared to females (5.2%)¹² and approximately one in two people (42.9%) is exposed to second-hand smoke at home¹³. Furthermore, due to the nomadic culture of people in remote communities and the long distances to health facilities, it is difficult for women in rural Mongolia to seek emergency healthcare services. In this context, therefore, it is likely that

¹Department of Health Informatics, Kyoto University, Yoshida Konoe-cho, Syakyo-ku, Kyoto, 606-8501, Japan.

²Department of Health Policy, National Center for Child Health and Development, 2-10-1 Okura, Setagaya-ku, Tokyo, 157-8535 Japan. ³Department of Environmental Health Sciences, Mongolian National University of Medical Sciences, Zorig street, Ulaanbaatar-14210, Mongolia. ⁴Department of Midwifery and Women's Health, The University of Tokyo, 7-3-1 Hongo, Bunkyo-ku, Tokyo 113-0033, Japan. ⁵Department of Pediatrics, Mongolian National University of Medical Sciences, Zorig street, Ulaanbaatar-14210, Mongolia. Correspondence and requests for materials should be addressed to A.D. (email: dagvadorj-a@ncchd.go.jp) or R.M. (email: rintaromori@gmail.com)

women seek care advice regarding their children's health and illnesses from people within their immediate community, such as relatives, neighbours, traditional healers, and monks. As a result, it is probable that in the absence of appropriate and timely healthcare seeking, children's illnesses such as LRTI could become severe. Currently, information such as about the associated risk factors for LRTI in the Mongolian context is severely lacking. It is therefore crucial to identify the potential risk factors contributing to LRTI in children and associated hospital admission in order to suggest appropriate prevention strategies.

In this study, we aimed to assess potential risk factors for LRTI-related hospital admissions in Mongolian children aged 3 years old.

Methods

Subjects. A population-based, cross-sectional study was conducted in Bulgan, a rural province of Mongolia, from July 2013 to October 2013. The study area comprised approximately 50,000 km² and a widely distributed population of about 53,000 people. This province was selected for the study because of its fairly even ratio of nomadic and sedentary residents, which is highly generalizable to other parts of the country. This study included all children aged 3 years who were born in 2010, and their mothers, who were resident in Bulgan during the study period. Lists of residents were acquired from the Bulgan registration centre, and research assistants living in each administrative area who had knowledge of the movements of nomadic residents and their current location conducted data collection. Based on this procedure, 1,083 mother-and-child pairs were eligible for this study. Women who refused to participate in the study and those who were not available during the period of data collection were excluded, which resulted in 1,019 mothers and 1,013 children being included. Details of the recruitment procedure are clarified in a previously published¹⁴ descriptive study of this dataset.

Data collection and variables. The questionnaire was designed to assess the risk factors contributing to the hospital admission of children with LRTI, and was initially pilot-tested among 15 women who lived in the study field. Trained research assistants then distributed the pre-tested structured questionnaire to all participants. Women who were not able to read were still able to answer all questions as the research assistants read out the questions to them. Data on socioeconomic status, number of family members, nomadic status, smoking place, number of cigarettes smoked per day, healthcare-seeking behaviour, and breastfeeding duration were collected by face-to-face questionnaire during a door-to-door survey. Records of child birthweight and hospitalization for LRTI were transcribed from the Maternal and Child Health Handbook¹⁵, and anthropometric measurements on weight and height of the mother and child were taken during the door-to-door survey.

The Maternal and Child Health Handbook is provided by the government to mothers during their first antenatal health check-up with a general practitioner. The general practitioner is expected to explain to the expectant mothers how to use the handbook, and is responsible for recording antenatal check-ups, delivery process, neonatal status and measurements, infant medical check-ups, vaccination records, and history of diseases until the age of 5 years. Mothers are responsible for checking normality of growth and developmental milestones for their children and are free to take advice written in the handbook.

We asked mothers the question, "Whom do you seek for care first when your child becomes ill?" We categorized answers as formal healthcare-seeking behaviour if mothers answered "hospital physician" and "pharmacist". For informal healthcare-seeking behaviour, we included "traditional healer", "monk", "partner", and "relatives". Both formal and informal healthcare-seeking behaviour translated to the presence of healthcare-seeking behaviour. If mothers answered "no one" to the question, we took this as an absence of healthcare-seeking behaviour.

A hospital admission for LRTI was defined as being equivalent to having severe clinical pneumonia, bronchiolitis, bronchitis, exacerbation of asthma, and viral-induced wheeze necessitating hospital admission. As Mongolian clinicians adhere to guidelines for the Integrated Management of Childhood Illness¹⁶, the general criteria for LRTI-related hospital admission is having cough or difficulty breathing and having any of the following signs — any danger signs, chest indrawing or stridor in a calm child. Diagnosis of LRTIs was made by local professional physicians and recorded in the maternal and child health handbook. Those who did not have this handbook were identified through the questionnaire answered by the mothers. Hospital admission was defined as admission to any hospital in or outside the province since birth till the time of survey. All admitted episodes for the condition were registered during this 3-year period.

The study setting included 20 primary-level health centres and a secondary hospital, the Bulgan Central Hospital. Details of the healthcare system are described elsewhere¹⁴. Basic health services for children up to 16 years old are fully subsidized by the government, and the average immunization coverage for each province in the country ranges from 94.0% to 98.9%¹⁷.

Statistical analysis. Statistical analysis was performed using Stata version 13.0 (StataCorp LP, College Station, Texas, USA) on study participants of 1,019 mothers and 1,013 children.

The basic characteristics of study participants were described using the chi-squared test. Multivariable analyses were performed for the potential risk factors contributing to children being admitted to hospital for LRTI, including maternal age and education, wealth index, overall smoking (any family member), place of smoking, number of cigarettes smoked per day by any family member, nomadic status, family crowding, healthcare-seeking behaviour, sex of the child, exclusive breastfeeding, low birthweight, and use of stoves. Multicollinearity between variables was assessed using Pearson's correlation coefficients. Calculation of the wealth index is explained elsewhere¹⁴ based on previous validated study methods^{18,19}.

The main model was adjusted for all the characteristics described above: maternal age and education, wealth index, place of smoking, nomadic status, family crowding, healthcare-seeking behaviour, sex of the child, exclusive breastfeeding (≥ 4 months), low birthweight ($\leq 2,499$ g), and use of stoves. Since the number of cigarettes smoked is suggested to be a better predictor of smoking intensity²⁰, the model was further adjusted for number

Women	Category	Distribution (%)	No admission for LRTIs		Admission for LRTIs		p value
			n	(%)	n	(%)	
Age	18–24	169 (17.2)	99	58.6	70	41.4	0.717
	25–39	742 (75.5)	456	61.5	286	38.5	
	≥40	72 (7.3)	42	58.3	30	41.7	
	Missing (%)		36 (3.5)				
Educational level	No education	13 (1.3)	7	53.9	6	46.2	0.852
	Primary	78 (7.9)	49	62.8	29	37.2	
	Secondary	661 (66.8)	407	61.6	254	38.4	
	Tertiary	238 (24.0)	141	59.2	97	40.8	
	Missing (%)		29 (2.8)				
Wealth index	Poorest	199 (20.4)	127	63.8	72	36.2	0.644
	Poor	194 (19.7)	120	61.9	74	38.1	
	Middle	196 (19.9)	123	62.8	73	37.2	
	Wealthy	197 (20.0)	112	56.9	85	43.2	
	Wealthiest	197 (20.0)	118	59.9	79	40.1	
	Missing (%)		36 (3.5)				
Family crowding	≤4	597 (60.2)	359	60.1	238	39.9	0.498
	≥5	395 (39.8)	246	62.3	149	37.7	
	Missing (%)		27 (2.6)				
Nomadic status	Nomadic	448 (45.2)	286	63.8	162	36.2	0.247
	Sedentary	487 (49.2)	285	58.5	202	41.5	
	Seasonal	55 (5.6)	33	60.0	22	40	
	Missing (%)		29 (2.8)				
Use of stove	Yes	947 (95.4)	585	61.8	362	38.2	0.029
	No	46 (4.6)	21	45.7	25	54.4	
	Missing (%)		26 (2.5)				
Smoking place	No smoking	501(50.8)	324	64.7	177	35.3	0.051
	Inside the home	330 (33.4)	186	56.4	144	43.6	
	Outside	156 (15.8)	93	59.6	63	40.4	
	Missing (%)		26 (2.5)				
Number of cigarettes smoked per day	0	506 (50.9)	327	64.6	179	35.4	0.055
	1~10	340 (34.2)	197	57.9	143	42.1	
	≥11	147 (14.9)	82	55.8	65	44.2	
	Missing (%)		26 (2.5)				
Healthcare-seeking behaviour	Formal	742 (79.4)	432	58.2	310	41.8	0.002
	Informal	122 (13.1)	76	62.3	46	37.7	
	None	70 (7.5)	56	80.0	14	20.0	
	Missing (%)		85 (8.3)				

Table 1. Basic characteristics of women.

of cigarettes smoked per day by any family member. The final model was interpreted using adjusted odds ratios (AORs) and 95% confidence intervals (CIs) at a statistically significant level of p -value < 0.05 .

The population attributable fraction (PAF) was estimated by using the formula $PAF = p(\theta - 1) / \theta$, where p = the proportion of cases who were exposed, θ = AOR²¹. The PAF determines the proportional reduction in LRTI-related hospitalization of children, which hypothetically would occur if children were not exposed to a risk factor.

Ethical Considerations. This study protocol was approved by the Ethics Committee of the National Center for Child Health and Development, Japan, as well as the Institutional Scientific Board of the National Center for Maternal and Child Health and the Ethics Committee of the Ministry of Health, Mongolia. The study protocol complied with the principles of the Declaration of Helsinki²² and written informed consent was obtained from women prior to study recruitment. This written informed consent included approval from mothers on behalf of their children. All data were analysed anonymously.

Results

Data was collected from 1,019 mothers and their 1,013 children, with a high response rate of 93.8%. Tables 1 and 2 show the distribution of characteristics for all participants.

In our sample, most women were between 25 to 39 years old and were educated to secondary school level. In the sample, 45.2% of participants were from nomadic households, and 49.2% had at least one smoking family

Children	Category	Distribution (%)	No admission for LRTIs		Admission for LRTIs		p value
			n	(%)	n	(%)	
Sex	Male	529 (52.2)	309	58.41	220	41.59	0.077
	Female	484 (47.8)	309	63.84	175	36.16	
	Missing (%)		0				
Low birthweight	≥2500 g	971 (95.8)	602	62	369	38	0.002
	≤2499 g	42 (4.2)	16	38.1	26	61.9	
	Missing (%)		0				
Exclusive breastfeeding	≤3 months	65 (6.4)	29	44.62	36	55.38	0.005
	≥4 months	946 (93.6)	588	62.16	358	37.84	
	Missing (%)		2 (0.2)				

Table 2. Basic characteristics of children.

member living with them. Of the smoking households, only 3 mothers were smokers and 67.8% of smoking family members smoked inside the home. The majority of participants (95.4%) used stoves in their homes.

Of the 1,013 children in the study, 4.2% were born with a low birthweight, and most (93.6%) were exclusively breastfed in their first 4 months of life. Overall, 395 children (38.9%) had an LRTI-related hospital admission. Discrepancies reported in these numbers from an earlier descriptive study¹⁴ were due to missing information on LRTI-related hospital admissions.

In the multivariable model, home smoking (AOR: 1.51; 95% CI: 1.11–2.07), low birthweight (AOR: 2.15; 95% CI: 1.06–4.35), and being a male child (AOR: 1.34; 95% CI: 1.00–1.76) showed a positive effect. Meanwhile, exclusive breastfeeding at ≥4 months (AOR: 0.43; 95% CI: 0.24–0.74) and an absence of healthcare-seeking behaviour (AOR: 0.33; 95% CI: 0.17–0.61) were found to be negative predictors of children's hospital admission. Use of stoves did not show any association with the outcome in the multivariable analysis (Table 3).

Number of cigarettes showed a dose-response relationship (1–10 cigarettes per day AOR: 1.34; 95% CI: 0.99–1.81 and ≥11 cigarettes per day AOR: 1.46; 95% CI: 0.98–2.18), although the strength of evidence was weak. In addition, overall smoking increased hospital admission probability by 1.38 times (95% CI: 1.04–1.81; not shown in table).

Concerning the confounding risk factors, the estimated PAF was 14.7% for cigarette smoking inside the home, 33.1% for low birthweight, and 40.6% for the absence of healthcare-seeking behaviour. These figures represent the reduction in LRTI-related hospitalization of children that would occur if the respective risk factors were reduced to ideal levels.

Discussion

Our study found that children exposed to home smoking, children with a low birthweight, and children who were exclusively breastfed for less than 3 months had higher LRTI-related hospital admissions. In addition, being a male child and an absence of any formal or informal healthcare-seeking behaviour from the mother showed strong associations with LRTI-related hospital admissions. Furthermore, hospital admissions increased if family members smoked a higher number of cigarettes per day. Despite the dose-response relationship, the daily number of cigarettes smoked by family members had a weak association with LRTI-related hospital admissions ($p < 0.10$), probably because of the study's small sample size. However, this may imply that controlling the number of cigarettes may motivate parents to smoke less, and reduce children's exposure to second-hand smoke and the risk of respiratory disease.

Previous research has consistently shown the harmful effect of home smoking among all population groups, especially children^{11,23}. Furthermore, a Swedish study found that outdoor smoking was associated with a lower urine cotinine level in children (AOR: 1.99; 95% CI: 1.1–3.6)²⁴. In the current study, a parallel finding that favours outdoor smoking was also observed in the Mongolian context. However, living in a smoking household raises further concerns for Mongolian children as a great majority of Mongolia's population lives in a *ger* — a traditional circular house without any walls inside to divide the space into separate rooms. Furthermore, it has been suggested that harmful particles are likely to be spread around the house via the smoker's fingers²⁵. Given these factors, smoking cessation among adults in the family might be the most useful strategy for protecting children from exposure, as outdoor smoking can only provide moderate protection²⁶.

Our results were consistent with much of the evidence from previous studies showing that low birthweight is strongly associated with child respiratory diseases¹⁰. This was further supported by the PAF of 33.1% implying the importance of preventing low birthweight with regard to reducing LRTI-related hospitalization. In light of extensive evidence^{27,28}, adoption of prenatal care integrated with useful strategies to support psychosocial factors that promote women's reproductive health, such as low-dose aspirin, bed rest, and maternal oxygen therapy, could prevent low birthweight in Mongolia.

It is well known that exclusive breastfeeding reduces the incidence of LRTI compared to partial and no breastfeeding²⁹. In our study, there was a reduced risk for LRTI-related hospitalization in children who were exclusively breastfed for the first 4 months of life ($p < 0.003$). This result provides further evidence to support the pivotal role of exclusive breastfeeding in preventing various infectious diseases among children³⁰. In addition, hand washing and improved nutrition are recommended as useful preventive measures to protect <5-year-old children from developing LRTIs³¹.

Predictors	Category	n	Adjusted odds ratio	95% CI	p value
Maternal age category	25–39	742	1		
	18–24	169	1.05	0.72–1.53	0.808
	≥40	72	1.03	0.59–1.76	0.901
Maternal education	Tertiary	238	1		
	No education	13	1.05	0.25–4.34	0.947
	Primary	78	1.10	0.58–2.05	0.777
	Secondary	661	1.07	0.72–1.56	0.740
Wealth index	Wealthiest	197	1		
	Poorest	199	1.16	0.50–2.63	0.731
	Poor	194	1.31	0.58–2.93	0.519
	Middle	196	0.93	0.53–1.60	0.793
	Wealthier	197	1.08	0.68–1.71	0.739
Smoking place	No smoking	501	1		
	Inside the home	330	1.51	1.11–2.07	0.009
	Outside	156	1.11	0.75–1.65	0.615
Nomadic	Seasonal	55	1		
	Yes	448	0.75	0.35–1.61	0.463
	No	487	1.09	0.56–2.11	0.796
Family crowding	≤4	597	1		
	≥5	395	0.88	0.65–1.18	0.387
Healthcare-seeking behaviour	Formal	742	1		
	Informal	122	0.80	0.52–1.20	0.282
	None	70	0.33	0.17–0.61	<0.001
Sex of the child	Female	484	1		
	Male	529	1.34	1.01–1.76	0.039
Exclusive breastfeeding	≤3 months	65	1		
	≥4 months	946	0.43	0.24–0.74	0.003
Low birthweight	≥2500 g	971	1		
	≤2499 g	42	2.15	1.06–4.35	0.033
Use of stove	no	46	1		
	yes	953	0.58	0.28–1.15	0.120

Table 3. Multivariable predictors of LRTI admission. (n = 915) Model adjusted for variables in this table.

In this study, being a male child increased the likelihood of hospital admission. This finding is consistent with previous studies that have reported on the tendency of boys to have more LRTIs than girls^{32,33}. Furthermore, in Mongolian culture, boys are perceived to be strong and so less likely to get sick³⁴. This might lead to parents' neglect of their boys, causing boys to acquire severe respiratory disease necessitating hospital admission.

Interestingly, women who refrained from seeking any care during their child's illness had less likely to admit their children to hospital for LRTI ($p < 0.001$) compared to women who sought informal or formal care. In a study conducted in Pakistan, lack of maternal perception and knowledge of child illness was associated with delayed consultation³⁵. This indicates that in rural Mongolia, it is probable that some mothers who are reluctant to seek health care might be putting their child's overall health at greater risk, including worsening their child's LRTI status. Furthermore, the PAF for the absence of healthcare-seeking behaviour was estimated at 40.6%, suggesting a need to educate mothers to seek professional health care at an early stage of their children's respiratory illness.

A key strength of this study is the collection of population-level primary data from door-to-door surveys and from the Maternal and Child Health Handbook in a remote rural province of Mongolia. Our study is unique in that it covered an area of approximately 50,000 km² and we sought data from a widely distributed population of 53,000 people. To the best of our knowledge, this is the first study in Mongolia to focus on hospital admission rates and potential risk factors associated with children's LRTI.

Our study has several limitations. First, the data covered only the first 3 years of a child's life after birth. Nevertheless, we succeeded in determining all LRTI episodes since their birth and that the risk of LRTI is usually highest in the early years of life. Second, other potential risk factors of LRTI-related hospital admissions might have been overlooked in our investigation, such as the type of fuel used in household stoves, nutrition, antenatal cigarette smoke exposure, and nursery attendance, where children might contract an infection from others^{26,31}. Therefore, caution should be taken in interpreting these study findings.

In addition to home smoking, domestic solid fuel stoves are a major source of indoor air pollution in Mongolia³⁶. In recent years, air pollution levels of the capital city Ulaanbaatar have exceeded WHO recommendations by 23 times³⁷, and much of this pollution is due to high seasonal fuel use during extremely low temperatures, e.g. -40°C ³⁸. In addition to our findings, high rates of seasonal air pollution should also be considered in relation to LRTI, as most households in this study — and in Mongolia generally³⁷ — use a stove.

Given the environmental challenge of air pollution, LRTI should be recognized as a critical child health problem that may escalate in future and place a heavy burden on the national health system. In addition, suitable preventive measures are necessary to reduce pollution and improve respiratory health. In our study, more than one-third of children were admitted for LRTI, which also suggests that programs addressing early management of LRTI, especially in rural areas, would provide significant benefits to reduce the financial burden on the health system and other resource usage, as LRTI is associated with increased healthcare utilization and related cost of care³⁹.

It is also crucial to increase maternal education and awareness of environmental factors associated with LRTI, and the importance of prevention and control of this condition. A population-based study that involved 288 Inuit children in Greenland reported that the population-attributable risk of LRTI associated with second-hand smoke was 47.1%⁴⁰. Although our result (14.7%) is comparatively smaller, it could still be used to initiate education on the deleterious effects of family members' smoking.

Since smoking and exclusive breastfeeding are modifiable lifestyle practices, increasing the awareness of second-hand smoke risks and promoting second-hand smoke prevention practices — such as reduced smoking, smoking outside and smoking cessation — as well as promoting exclusive breastfeeding practices, can improve children's respiratory health in Mongolia. Additionally, initiatives to prevent low birthweight are necessary to decrease the likelihood of LRTIs in young children.

In conclusion, our study highlights the finding that LRTI-related hospital admissions among children might be reduced by their family members' efforts to stop smoking, especially inside the home. Future studies should investigate specific methods of treatment and potential prevention strategies of modifiable risk factors for LRTI-related hospital admissions.

References

- Bhutta, Z. A. & Black, R. E. Global maternal, newborn, and child health—so near and yet so far. *N Engl J Med.* **369**, 2226–2235 (2013).
- Liu, L. *et al.* Global, regional, and national causes of child mortality: an updated systematic analysis for 2010 with time trends since 2000. *Lancet.* **379**, 2151–2161 (2012).
- Downie, L. *et al.* Community-acquired neonatal and infant sepsis in developing countries: efficacy of WHO's currently recommended antibiotics—systematic review and meta-analysis. *Arch Dis Child.* **98**, 146–154 (2013).
- Bat-Erdene, C., Ariuntuya, S., Narantuya, K., Davaajargal, S. & Enkhjargal, T. *Health Indicators 2012*. (Center for Health Development, 2013).
- World Bank. *ARI treatment (% of children under 5 taken to a health provider)*. Available at: <http://data.worldbank.org/indicator/SH.STA.ARIC.ZS>. (Accessed: 6th November 2015) (2010).
- Greenbaum, A. H. *et al.* Hospitalizations for severe lower respiratory tract infections. *Pediatrics.* **134**, 546–554 (2014).
- Rudan, I., Boschi-Pinto, C., Biloglav, Z., Mulholland, K. & Campbell, H. Epidemiology and etiology of childhood pneumonia. *Bull World Health Organ.* **86**, 408–416 (2008).
- Kristensen, I. A. & Olsen, J. Determinants of acute respiratory infections in Soweto—a population-based birth cohort. *S Afr Med J.* **96**, 633–640 (2006).
- Margolis, P. A. *et al.* Lower respiratory illness in infants and low socioeconomic status. *Am J Public Health.* **82**, 1119–1126 (1992).
- Jackson, S. *et al.* Risk factors for severe acute lower respiratory infections in children: a systematic review and meta-analysis. *Croat Med J.* **54**, 110–121 (2013).
- Oberg, M., Jaakkola, M. S., Woodward, A., Peruga, A. & Pruss-Ustun, A. Worldwide burden of disease from exposure to second-hand smoke: a retrospective analysis of data from 192 countries. *Lancet.* **377**, 139–146 (2011).
- World Health Organization (WHO). *Global status report on noncommunicable diseases*. (WHO, 2010).
- World Health Organization (WHO). *Mongolian steps survey on the prevalence of noncommunicable disease and injury risk factors - 2009*. Available at: http://www.who.int/chp/steps/2009_STEPS_Report_Mongolia.pdf. (Accessed: 6th November 2015) (WHO, 2010).
- Takehara, K. *et al.* Maternal and child health in Mongolia at 3 years after childbirth: a population-based cross-sectional descriptive study. *Matern Child Health J.* 1–10 (2015).
- Gochoo, S. & Dorjdagva, G. *Mongolian maternal and child health handbook*. (Ulaanbaatar Print LLC, 2010).
- World Health Organization (WHO). *IMCI integrated management of childhood illness*. (WHO, 2005).
- Bat-Erdene, C. *et al.* *Health Indicators 2014*. (Center for Health Development, 2014).
- Vyas, S. & Kumaranayake, L. Constructing socio-economic status indices: how to use principal components analysis. *Health Policy Plan.* **21**, 459–468 (2006).
- Gunnsteinsson, S. *et al.* Constructing indices of rural living standards in Northwestern Bangladesh. *J Health Popul Nutr.* **28**, 509 (2010).
- Li, L. *et al.* Prospective predictors of quitting behaviours among adult smokers in six cities in China: findings from the International Tobacco Control (ITC) China Survey. *Addiction.* **106**, 1335–1345 (2011).
- Miettinen, O. S. Proportion of disease caused or prevented by a given exposure, trait or intervention. *Am J Epidemiol.* **99**, 325–332 (1974).
- Assembly, W. M. A. G. World Medical Association Declaration of Helsinki: ethical principles for medical research involving human subjects. *Int J Bioethics.* **15**, 124 (2004).
- Gordon, J. K., Emmel, N. D., Manaseki, S. & Chambers, J. Perceptions of the health effects of stoves in Mongolia. *J Health Organ Manag.* **21**, 580–587 (2007).
- Johansson, A., Hermansson, G. & Ludvigsson, J. How should parents protect their children from environmental tobacco-smoke exposure in the home? *Pediatrics.* **113**, e291–295 (2004).
- Matt, G. E. *et al.* Households contaminated by environmental tobacco smoke: sources of infant exposures. *Tob Control.* **13**, 29–37 (2004).
- Ulbricht, S. *et al.* Predictors of indoor smoking at young children's homes—a cross-sectional study. *Eur J Pediatr.* **173**, 9, 1187–1191 (2014).
- Lu, M. C., Tache, V., Alexander, G. R., Kotelchuck, M. & Halfon, N. Preventing low birth weight: is prenatal care the answer? *J Matern Fetal Neonatal Med.* **13**, 362–380 (2003).
- Say, L., Gulmezoglu, A. M. & Hofmeyr, G. J. Maternal oxygen administration for suspected impaired fetal growth. *Cochrane Database Syst Rev*, Cd000137 (2003).
- Duijts, L., Jaddoe, V. W., Hofman, A. & Moll, H. A. Prolonged and exclusive breastfeeding reduces the risk of infectious diseases in infancy. *Pediatrics.* **126**, e18–25 (2010).
- Ladomenou, F., Moschandreas, J., Kafatos, A., Tselentis, Y. & Galanakis, E. Protective effect of exclusive breastfeeding against infections during infancy: a prospective study. *Arch Dis Child.* **95**, 1004–1008 (2010).

31. The United Nations Children's Fund (UNICEF)/ World Health Organization (WHO). *Pneumonia, the forgotten killer of children*. Available at: http://www.childinfo.org/files/Pneumonia_The_Forgotten_Killer_of_Children.pdf. (Accessed: 6th November 2015) (2006).
32. Jin, Y. *et al.* Prevalence of adenovirus in children with acute respiratory tract infection in Lanzhou, China. *Viral J.* **10**, 271 (2013).
33. Jackowska, T. & Wrotek, A. Etiology of community-acquired pneumonia in children hospitalized in the period of 2009–2012. *Dev Period Med.* **18**, 209–215 (2014).
34. Badamtsetseg, D. *Man should not cry*. Available at: <http://tsagtur.mn/2010-01-11-03-32-13/>. (Accessed: 20th January 2016) (2010).
35. Shaikh, B. T. & Haran, D. Treating common illnesses among children under five years: a portrayal of health-seeking behaviours and practices in the northern areas of Pakistan. *World Health Popul.* **12**, 24–34 (2011).
36. Gordon, S. B. *et al.* Respiratory risks from household air pollution in low and middle income countries. *Lancet Respir Med.* **2**, 823–860 (2014).
37. Enkhmaa, D. *et al.* Seasonal ambient air pollution correlates strongly with spontaneous abortion in Mongolia. *BMC Pregnancy Childb.* **14**, 146 (2014).
38. Guttikunda, S. K., Lodoysamba, S., Bulgansaikh, B. & Dashdondog, B. Particulate pollution in Ulaanbaatar, Mongolia. *Air Qual Atmos Health.* **6**, 589–601 (2013).
39. Drysdale, S. B. *et al.* Viral lower respiratory tract infections and preterm infants' healthcare utilisation. *Eur J Pediatr.* **174**, 209–215 (2015).
40. Koch, A. *et al.* Risk factors for acute respiratory tract infections in young Greenlandic children. *Am J Epidemiol.* **158**, 374–384 (2003).

Acknowledgements

The study was funded by a Grant-in-Aid (No. 23406035) from the Government of Japan. We thank all study participants, and the staff at the Mongolian Health Agency, health centres and registration centres in Bulgan who, with Narantuya Sumya, dedicated so much effort to collecting data for this study. We also thank Emma Barber for her editorial support.

Author Contributions

A.D., E.O., K.T., N.H. and R.M. had responsibility for the overall study design and management. A.D., K.T., N.H. and B.B. were involved in field visits and monitoring the study site. A.D. wrote the initial draft of the manuscript. A.D. and E.O. conducted the data analysis. S.S., P.B.O., R.M. and T.N. contributed to the data analysis, interpretation of the data and to the review. All authors contributed to the discussion and have seen the final version of the paper.

Additional Information

Competing financial interests: The authors declare no competing financial interests.

How to cite this article: Dagvadorj, A. *et al.* Hospitalization risk factors for children's lower respiratory tract infection: A population-based, cross-sectional study in Mongolia. *Sci. Rep.* **6**, 24615; doi: 10.1038/srep24615 (2016).



This work is licensed under a Creative Commons Attribution 4.0 International License. The images or other third party material in this article are included in the article's Creative Commons license, unless indicated otherwise in the credit line; if the material is not included under the Creative Commons license, users will need to obtain permission from the license holder to reproduce the material. To view a copy of this license, visit <http://creativecommons.org/licenses/by/4.0/>